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10,000,000 * 1904 10,000
= 3,000
Al 7,000
OsEXZA H012= &8 NEA sHA
A 20,000,000& *141%70/100 14,000
s 4,200
Al 9,800
(Z)dd=sge =4 101,200 8,700 92,500




A sEXNED
B =oIAME BA NTA(SEHYSL/ S - 5E)
el BYHEUE SBHEUEFY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 30,360
Al 70,840
201 er23| 11,200 2,700 8,500
= 3,360
Al 7,840
01 AlR 21| 11,200 2,700 8,500
OtHAlE 22 T
10,0003 »280F 42 7| 11,200
=S 3,360
Al 7,840
301 2= 3,000 3,000 0
== 900
Al 2,100
11 dALEEIXIE S 3,000 3,000 0
OstaH IRES HETA
30,0003 %100 3,000
= 900
Al 2,100
307 @120l & 3,000 3,000 0
== 900
Al 2,100
02 LB MANHEE 3,000 3,000 0
OBUsoUHIR BE N
3,000,000 10 2 3,000
S 900
Al 2,100
402 212t X201 & 84,000 0 84,000
= 25,200
Al 58,800
02 QI XHE AL E R (01X THE) 84,000 0 84,000
O=E=0l NS
100,000, 0002 *1IH 2%70/100 70,000
< 21,000
Al 49,000
OFH=sYe =34 s Nl 88
Z Ag 20,000,000 *1JH2+70/100 14,000
= 4,200
Al 9,800
(F)sEXNTIIetxY 800,000 0 800,000
Xl 400,000
Al 400,000
401 AIEHIZ SR OHYI 800,000 0 800,000
N 400,000
Al 400,000




A sEXNED
B =oIAME BA NTA(SEHYSL/ S - 5E)
el BYHEUE SBHEUEFY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 800,000 0 800,000
OFE=sYol JBUH(HRLESY) 25
SAt 800,000,000 x 14 800,000
N 400,000
Al 400,000
HUsgel 524IE FR(XYAZUHEIIS) 1,500,000 0 1,500,000
Al 404,000
CH 1,096,000
401 AIEHIZ R 0HYI 1,096,000 0 1,096,000
CH 1,096,000
01 AlZH| 1,096,000 0 1,096,000
O3d=sgel o2HH 25
1,096,000,000& *14] 1,096,000
CH 1,096,000
405 KHoHFSHI 404,000 404,000
01 ML ESFSHI 404,000 404,000
OFEE=Q0l 52HE 75 2251 7Y 404,000
—HADSHE B
200,000,000& *14] 200,000
—AIR SSIIAHH
100,000,000 14 100,000
—SASAE &l
104,000,000 * 14 104,000
SE dE23 HEA 411,350 503,613 N92,263
= 3,000
= 57,450
Al 350,900
STUE FUXAA 19,200 16,000 3,200
307 @120l & 3,200 16,000 212,800
02 QB HANEEX 3,200 16,000 A12,800
Osag ordae] AEANE (L) (EXE 80%
) 2,000,000 *27H 2*80/100 3,200
402 QI2F X201 & 16,000 16,000
01 QI X2 AL E A (KHMITHE) 16,000 16,000
Os&g etdzie] AHAY(HE)(EEE 80%
) 10,000, 0002 *2JH 2=+80/100 16,000
HEIHHS | 31,160 63,560 A32,400
206 MH=H| 4,800 4,800 0
01 M=4l 4,800 4,800 0
Odeidsl s8Hs HNEs us M=
22,0002 %150 3,300
OdEifds SS2UUF W=
500,000& 31 & 1t 1,500
301 EtE NS 12,360 8,760 3,600
11 dAMEBIXIE S 7,200 3,600 3,600
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A sEXNED
B =oIAM B NTA(SEHYSL/ S - 5E)
Hel: S ME23 HEAY (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 Ar=EHI 10,000 10,000 0
OsENEss s2dA
5,000,000& 22 10,000
SHS s 28 |4 19,000 66,200 A47,200
207 ARl 19,000 38,000 19,000
01 S| 19,000 38,000 19,000
OJISHE =222l 21 & E XA
9,500,000 *2JH 2= 19,000
SASIIEUSE 29 23,290 22,953 337
101 @124H| 17,815 17,513 302
M ORIMZZ2NSE S 17,815 17,513 302
OsAE I8 usd 24 ARy 17,815
—JlZ2= 80,2403 x 12 *180 14,444
—F5=4 80,2403 x 1 »365 2,809
—AXtEa 80,2403 x1H+7 562
201 Ler23 | 5,475 5,440 35
01 At2t2ltl 3,000 3,000 0
Ou=sE &3 JIAHM 7Y
500,000 65 3,000
02 S3=4gl 2,475 2,440 35
Ounsd 29 HHI(2USSR)
1,350 %700 £ 945
OLULPG(HUBIA R It A)
5,300 »100m* 530
OJIAHEHl sXbl 200,000 55 1,000
SESA |4 81,720 75,920 5,800
201 er2 3| 40,720 34,920 5,800
01 AtR2telHl 20,920 12,920 8,000
OgESAUS 42 M
60,0002 x35+43] 720
OSESAAAE ?E+E
100,000 *6& *33] 1,800
OgESAE & NH
500,000 *20H A 1,000
OSESAINY &2 S5
800,000 *34 2,400
OESAHZ A= M=
15,000,000 * 14! 15,000
03 A= EHI 19,800 22,000 2,200
OSESA Al gotal & AlA 2
1,800,000& %12 1,800
OSESA0HHI0l wBs
18,000,000& x12] 18,000
206 M=l 3,000 3,000
01 MHZHI 3,000 3,000
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A sEXNZU
B =oIAM B NTA(SEHYSL/ S - 5E)
Hel: S ME23 HEAY (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 MHZH| 3,740 4,420 2680
OXNgSats4ie e+
467,500 82 3,740
= 748
Al 2,99
301 Eet2 NS 1,760 2,080 A320
== 352
Al 1,408
14 JIEt2 8= 1,760 2,080 A320
OXNESatsaiZus HA=g 1,760
— =LA 120,0003 1 Al 2H+85] 960
= 192
Al 768
—2XZA 50,0002 x82|+2& 800
=S 160
Al 640
402 2I2E X201 & 140,000 140,000 0
< 42,000
Al 98,000
S N CERED) 140,000 140,000 0
OY=SHLETR A5 MY
200,000,000 *70/100%17H 2 140,000
= 42,000
Al 98,000
(E)g=gel s 44,500 52,500 /8,000
== 14,350
Al 30,150
201 223 9,000 8,000 1,000
== 2,700
Al 6,300
03 Ar=EHI 9,000 8,000 1,000
OsZ0d dAicldE d=2)ls u=F
9,000,000 *14! 9,000
= 2,700
Al 6,300
301 EtE2 NS 22,500 34,500 212,000
== 6.750
Al 15,750
14 0Bt 2a s 22,500 22,500 0
Odalldald s N
60,0003 x375& 22,500
= 6,750
Al 15,750
307 el2tol & 13,000 10,000 3,000




A sEXNED
M SolAMA A NTAY(SUMLLM/SY - =)
Hel: & HEE3 HHA (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 4,900
Al 8,100
02 2IZHB A E £ 13,000 10,000 3,000
Og=sst sEIEsd Z2HE
8,000,000& *14] 8,000
= 2,400
Al 5,600
ONEHN =22 =& SM=s0t HEZ
5,000,000 * 14 5,000
& 2,500
Al 2,500
sSIH g Jlgtxd 6,012,892 8,830,381 A2,817,489
= 600,000
< 521,450
Al 2,871,442
CH 2,000,000
= 20,000
SO L=l A 892,195 1,125,274 233,079
101 @124H| 79,198 103,807 A24,609
M OIRINZZ2NSE S 79,198 103,807 N\24,609
OsIIH UL FREX 12 79,198
—SJIH EREX
80,2402 x3H*240 57,773
—F5=4 80,2403 »3& 482 11,555
—XtE Y 80,2403 x3&* 11 2,648
—5L2=7 80,2403 150%+3H x202 7,222
201 er23y| 338,997 269,467 69,530
01 AtR2t2|HI 32,010 22,170 9,840
OsI1AHg & M= 15,0002 »200CH 3,000
OsSJIAH SUAMLA 22ES 7
20,0002 x565* 12 +32 4 3,600
OsJIH HAusE =8 deHole 2
o 2,910
—=AZc ES 230,000 x 122 2,760
—ZIIBA =8 150,000& %12 150
OsIIH SUAISA D] |2l
35,000 * 12E+32 & 1,260
OsJIAH SUAIE A HAEHl FXI2 ] 2,640
—SADI(AE) =2l
400,000 *1CH*3= A 1,200
—SAI EY
200,000 x22| 1 CH*3= A 1,200
—PC #=cl 100, 0002 *4LH*3= 220/ 100 240
OSIIHSUAIL A SUBHIAIAE 2(3
DL EY 250,000 * 12«30 2 9,000




A SEXNEL
MY iAW A KTA (SEHLSM/ S - SE)
Sl SYIIAHE Jlgtxd (SH9 H2)
. = SIE]
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
OsJHZeZ2 03 (U, 232al) 29
a] 250,000&x25+ 122 6,000
OSIIH LML A JIEZH =2
100,000 *12JH B 30 2 3,600
02 2324l 306,987 247,297 59,690
OSI1H HADSE 2 ARIHOIE =
= 100,000& 105 1,000
OsJH Lt EAFH| 22| 3,200
— XIAIXE 400,000 *4CH 1,600
— &= 32l 400,000 #4CH 1,600
O2UHE sI1AH 2exte A2l 10,000
—8F2RA(LEFE,ER) [24]
2,000,000 *1CH 2,000
—BFE01(AESE ER) [HREA]
2,000,000 *1CH 2,000
~0=037 (A HEE, FR) [SREL]
2,000,000 *1CH 2,000
—815EHI6(ZE3IE, ER) [EREL]
4,000,0002 *1CH 4,000
OsIIH LUAgL &S (A U8, 2
) 700,000& x 128 *32 A 25,200
OsI1H LA A & St 3(2a,Y
2,59) 50,0003 * 123 +3=2 A& 1,800
OsIIH LUAIEA IHYRI(EL)
35,0003 128+ 12 420
Ogll, n=sg8 sJIH BE8=
25,000,000& *13| %30 2 75,000
Ousg sJIH R4l 2,552
-4 1,51024%800 4 1,208
—slgg 1,68024+800 ¢ 1,344
OsJ1J D8E HY8 S8
1,350&*300 £ *30H 2 1,215
Ounsg sJIH Ryl 1,500
—CH2R01A1DI2l 55 5L
300,000 *5CH 1,500
O2tE sIIH |XH2b(2L, 42, =
) 140,100
— A8 (22IIS 88)
100,000 *131CH* 13 13,100
—EY(=FYTHIIS UT)
200,000 *506CH* 13 101,200
—HE (EAHHS 5T)
300,000 *86CH*13] 25,800
OsIIH LUAMEA HE SA2elhl(24a
g2 58) 15,000,000 *30H 2~ 45,000
206 =8| 175,000 125,000 50,000
01 M=l 175,000 125,000 50,000




A sEXNED
B =oIAME B NTA(SEHYSL/ 5 - 5E)
Sl SYIIAHE Jlgtxd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oogl s =cl 73 & &5+, 223 145,000
—al & NEE SIH w2l B3
50,0002 %2,200H 110,000
—37 € 423 50,000 700K 35,000
Os2IH E=H=SAtD 2R 7
1,000,000 *30CH 30,000
405 AtaHE = 299,000 627,000 A328,000
01 MMM ESFSHI 299,000 627,000 328,000
Ous 2 i =JI1H 7 299,000
—sEE=3 30,000,000 =2CH 60,000
—CISE2EXHE S, 500kg)
6,000,000 ~4CH 24,000
—CI2X 28X ES, 1000kg)
20,000,000 1CH 20,000
— E 24 (630121) 50,000,000 1CH 50,000
—=43)) 7,000,00021CH 7,000
—=E3I|(TFA)
18,000,000 »1CH 18,000
—ZE{HI0IE(205) 5,000,000 *3CH 15,000
—HIE & I((1,000kg)
7,000,000 1CH 7,000
—gE8==)| 5,000,000 =2CH 10,000
—ALEAZHOIN
40,000, 0002 +2CH 80,000
—g=10t40| 8,000,000 *1CH 8,000
SO etd2te| Are 63,540 8,680 54,860
201 ger=3| 6,280 5,680 600
01 AtR2te|H] 6,280 5,680 600
OsIIH BALD E22 MH 1,720
—cl|S 1,000& *50001+23] 1,000
—s =0 M 80,0002 *32|*37H A 720
OsIIH SUAMgA 224 IS 2 4,560
—&gs 200,000 x4 & *3H 2 2,400
— &5t 180,000 x4 H*3H A 2,160
206 MH=HI 52,800 3,000 49,800
01 MHZHI 52,800 3,000 49,800
OsJIH SUAE A HEES Y 52,800
—SIIH 220 et w2t (SI1A
&) 440, OOO?_ 120CH 52,800
301 EetE NS 4,460 4,460
11 #AIAHIXIE S 3,000 3,000
OsgIIAH W= 3,000
-3, T s8I WF oyl
120,0003 *5& +53] 3,000




A sEXNED
B =oIAME B NTA(SEHYSL/ 5 - 5E)
Rl SIS Jeted EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
14 IIEt2 8= 1,460 0 1,460
OsgIIH &8 us AL =& 1,460
—Jlz= 150,000 3 Al 2++23] 900
-z 80,000 2 Al 2++23] 320
—OiH 120,0003 * 124 +23] 240
sy U X 100,000 50,000 50,000
301 EtE NS 100,000 50,000 50,000
14 JIEt2 83 100,000 50,000 50,000
OIS SHY UY 243
100,000,000 14 100,000
Al SIIH B2 AF 979,000 4,495,427 N\3,516,427
401 Al HIZ S OHHI 450,000 4,495,427 A4,045,427
01 A28l 450,000 4,382,000 A3,932,000
Og=Al SIIAH 224 AF SA
450,000,000 *14] 450,000
405 AHAHE S 529,000 529,000
01 AL =S F=HI 529,000 529,000
OZFAl SO B2t 2e|&d 2 459,000
-S| E20H (e
2,300,000 = 100CH 230,000
— KA 47,000,000 »2CH 94,000
—SZAIAH(LE 5,000,000 =4CH 20,000
—SZ A1) 6,000,000 = 1CH 6,000
—HHIZZE(AE)
16,000,000 1CH 16,000
—FHl2ZE(Ye)
20,000,000 = 1CH 20,000
—HS2EHA 20,000, 0002 =2CH 40,000
—OISHENSIHE
6,000,000 *3CH 18,000
—SJ1AH ME FHI 5,000,000 *3CH 15,000
OZFAl SIIH 224 AARS2H & ot
=& 70,000
-S| B&a RS2t H ANUSE
-5 70,000,000 * 14 70,000
(F)SIAHS AL A EXI X2 900,000 0 900,000
= 450,000
== 225,000
Al 225,000
401 Al HIZL 01| 450,000 0 450,000
= 450,000
01 Al&HI 450,000 0 450,000
OE=FAl SIIH 224 8=
450,000,000 x14] 450,000
= 450,000




A sEXNED
M SoAMA BA NTAY(SUMLLM/SY - =)
Sl SYIIAHE Jlgtxd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
405 AHaHE = 450,000 0 450,000
= 225,000
Al 225,000
01 ML ESFSHI 450,000 0 450,000
OSII2 LTHAIZiA 2T SIIH 72
450,000,000 x 14 450,000
=S 225,000
Al 225,000
(F=EFESIIHUMKIA 240,000 140,000 100,000
= 120,000
= 60,000
Al 60,000
405 AtatE=H 240,000 140,000 100,000
= 120,000
= 60,000
Al 60,000
01 ML ESFSHI 240,000 140,000 100,000
OL&S71 Ul LTSI 72 240,000
— 2501 URl 0 S01 2
200,000,000& *14] 200,000
= 100,000
= 50,000
Al 50,000
~ D4 UE MW 79
40,000,000& *14] 40,000
= 20,000
=S 10,000
Al 10,000
(R)SIIHSEER 2 30,000 10,000 20,000
= 4,000
= 1,800
Al 4,200
= 20,000
206 MH=Hl 30,000 10,000 20,000
= 4,000
[ 1,800
Al 4,200
= 20,000
01 T2 30,000 10,000 20,000
O=e0IH S8Ex 72
100,000 »300CH 30,000
= 4,000
= 1,800
Al 4,200
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7,100

202 044l
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=
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1,200

01 2LHodl
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120,000& x 1€+ 10H
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=
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420
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=
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A sEXNED
B =oIAME B NTA(SEHYSL/ 5 - 5E)
Sl SYIIAHE Jlgtxd (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 840
11 #AIAHIXIZ S 2,400 2,400 0
Os2IH HHUS 2HA
4,0002*300F x20tH 2,400
= 1,200
= 360
Al 840
(FusS=LIIAXE 40,000 0 40,000
= 20,000
= 6,000
Al 14,000
405 KHoHF S| 40,000 0 40,000
= 20,000
= 6,000
Al 14,000
01 AL =S F = 40,000 0 40,000
OuUsE I 7 (EHH 28)
40,000,000 *1CH 40,000
= 20,000
S 6,000
Al 14,000
(E)SIIHSHAIE AQIE K 75,467 72,000 3,467
= 22,640
Al 52,827
101 21A4H| 75,467 72,000 3,467
s 22,640
Al 52,827
04 JIZtN2Z2XNSE 75,467 72,000 3,467
OsJIH LA A QIERIA
2,096,300 «3E«12& 75,467
< 22,640
Al 52,827
(E)S2ESIHSS 666,690 713,000 N46,310
= 200,010
Al 466,680
402 2IZtA=01d 666,690 713,000 146,310
=S 200,010
Al 466,680
02 RIENEASEZ(0IETHR) 666,690 713,000 N46,310
O=a8 sIIH 22X 666,690
—28 SIH =X
933,380, 0002 *141x50/100 466,690
= 140,010
Al 326,680




A sEXNED
B =oIAME B NTA(SEHYSL/ 5 - 5E)
=@l sgI1HE gt s (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—=8 =) 23X
20,000, 0002 *20CH*50/100 200,000
= 60,000
Al 140,000
(D)s2oHus EHEHIXH 14,000 0 14,000
== 4,200
Al 9,800
405 KHaHE SH 14,000 0 14,000
[ 4,200
Al 9,800
01 TR =S F=H 14,000 0 14,000
ONS L LUE SII1H PA(SAIAI)
14,000,000 *1CH 14,000
= 4,200
Al 9,800
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